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Sujet : 2AS 02 - 01 

  

� ا�.�ا*FK� D ح"آ� -1��  : ا�.�
 هBا ��1% أن x = at + b  �1,-2ا�Bي �.N>?� FS ا�.�
*� ه�  -
رة  + ��3,8# �1
د�#� �+ ا�FKQ ) 1( ا�-,
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 3,U 4 أي�
 ��1% أن ا�.#�"ك  $#�
WU ب#Vا�� ا��V+ هBاxا��"آ� ��#8,.� ��#7.� و آ�ن أن �,F هBا ا�.�#3,8 س
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5 ا��)$Xك *% ا"�#�ox)  ر��   .Bح"آ� ا�(�3 ) 1(، إذن ��ا*D ا�-,
ن ) �O� YK ox ا�.

 هBا ��1% أن x = at + b  �1,-2ا�Bي �.N>?� FS ا�.�
*� ه�  -
رة  + ��3,8# �1
د�#� �+ ا�FKQ ) 2( ا�-,
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 $#Vا�� ب#Vا�� ا��V+ هBا ��1% أن ا�.#�"ك x,3 ���4 أي U,3 ا��"آ� ��#8,.� ��#7.� و آ�ن أن �,F هBا ا�.�8#
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ن ) �O� %*ox ا�.
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\�#,+ ا�.�ا*#8,+ ���x1 ، x2 +,#7,+ ا���7#,+ ، *`ذا آ�  -2:   

t1 = 0  →  x1 = 0 
t2 = 4 s  →  x2 = 10 
d1 = | x2 - x1 |  = | 10 - 0 | = 10 m  

  :) 1-ا�-,
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$,+ ا���7#,+ ، و ب�[Y ا�?<�ات ا�.#-�1 س
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 ن(� O�:  
t1 = 0  →  x1 = 10 m 
t2 = 4 s  →  x2 = 0 
d2 = | x2 - x1 |  = | 0 - 10 | = 10 m  
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2

) 0 - 4 ( ) 0 - 10 (
 = S = d3  

  : ا�.1
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   :1-ا�-,
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x = a t + b 

•             2.5 - = 
 0 - 4

 10 - 0
 = a  

• b = 10 
x = - 2.5 t + 10 

   :2-ا�-,
ن
x = a t + b 

•             2.5 + = 
 0 - 4

 0 - 10
 = a  

• b = 0 
x = 2.5 t 

   :3-ا�-,
ن
v = a t + b 

•             2.5 - = 
 0 - 4

 10 - 0
 = a  

• b = 10 
v = - 2.5 t + 10 
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v = - 2.5 t + 10 
0 = - 2.5 t + 10 

2.5 t = 10  →              s 4 = 
2.5
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 =t  

  
  
  
  
  
  
  

  
 

  

  


